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Q1. Multiply out and simplify (2x - 1)(x + 3) + 2x

Ax® 4 bxwoe -Da2x
Axt 4+ J= -3
Q2. simplify p(3p - 4)
-
*
Q3. Calculate the median of 3,2,1,7,8, 4

win 35 2,347, §

Q4. Write with a poiitive index 3p~*
¥t = o L
=" X%

Today we will bz Jearning morg about the
Straight Ling.
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What can we say about the equations of the lines shown?
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Q1. Solve the equation 3(2x +1) = 7(x - 4)

Q2. Calculate the length of x X cm k

cm

Q3. Find the value of a car worth £5000 that depreciates by 5% in its

first year and 16% in its second

1 3
2*_7
4. 2573

Q5. State the equation of the line passing through (1, 2) and (0, 4)

Revision of the §’ry2igh+ Line

State the equation of the lines joining the following pairs of

coordinates:

1. A(-2, 3) and B(1, 5)
2.C(-3,-5)and D(O, 7)
3. E(-8, -1) and F(4, -10)
4.G(-3,2) and H(O, 2)
5.1(-1,7) and J(3, 0)

Fqnqﬁnn of 3 straight line

1. Mz Y-y . s-3 2

P 1=(-2)* 3
E'S

3-m= (“b

S

s HD*E
Se¥+c
c=8-3 =

2 B
B-TR“;

Parallel lines have equal gradients m; = m,

Vertical lines have an undefined gradient and have equation x = a.

Horizontal lines have 3 zero gradient and so have equation y = b.
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Revision of the §+mfgh+ Line

To find the equation of a line you need:
1. The gradient
2. The y - intercept or a point on the line

Y= mx +

m = gradient c =y - intercept.

Today we will be learning about the straight line equation
of the formy - b=m(x -a)

Equation of 3 straight line in the form v - b= m(x - 3)

This means we can state the equation if we have a coordinate on the
line and the gradient (easier than having to find the y - intercept).

____________

Multiply out and simplify your answer if you can.

May 30, 2016

Daily Practice 25.4.2016

1. Evaluate 3%4% - % - 20 % % _‘i_

2. Factorise %+ 2x — 15, 2

(x+5)x "3)

* (3 135) (""5)

. n-!:_%?‘ k.o
‘2 . J:mﬁ( 45 -lo()+C
6 1 2 3 4 s 6 7 % - %‘.‘C
Find the equation of this straight line in the form y = mx + ¢ 3 c-s
3 =lox4S

Equation of3 +migh+|im= inthe formy - b=m(x-3) M

State the equation of a line given the gradient = m and a coordinate on the
lineis (3, b)

2
j smx4C (dla)
C :J-\‘n
b: ma + ©
-l =W

smx+ b-mo
sL > M&"Mo'

g2

thm‘rinh of3 ﬁaigh{‘ line inthe formy - b =m(x-3)

Examples:

b
1. State the equatlon of the line that passes through ('2 3) with
gradient 2 '3 M&'G)

-3: alx-2
3-3 e Ax -4
-ax +1=C o ab
2. State the equatlon of the line that passes through (-4, 1) and (3, -7)
m ‘.'I'_‘_i' H -z—;—‘a\ = .-8—- -L!M(X—Q
e 3G 4 e (x48)
(s«? (x9)
SR

y +25=0
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Daily Practice 26.4.2016

X - 1)(2x2 + 3x - 1)
=24 x> =3 A |
Wa® 4 19~ 10 + ]

Q2. State gradient of the line 4x - 2y =5
Today we will be continuing to work out
'-!x-ﬁa-ScO g

Q3. Evaluate 3572 3 . the equation of a straight line.
= V7 -1 Ayss=lix ?

+%='A
Q4. Factorise x2 - 7x + 12 . (X-lf!x "32 8 3:&3
2 3

Q5. Write as a single fraction M=
-_—

QL. Multiply out and simplif?l. (7
2]

xX+3 x

dx 3(xsd)
x(x43) T Tl = 2%‘;)2

Qx ~3x-9 =%~
xCet) * 2o

Equation of 3 straight line in the form y = b = m(x = 3) Questions: Determine the equation fo the line for
each

Questions: Determine the equation fo the line for

cach 1. Gradient = 3 and passes through (2, 7)

&Y
5-15-53 g &_:’.|-O

1. Gradient = 3 and passes through (2, 7) )
2. Gradient = 0.5 and passes through (4, 8)

H = -3 -{tu--é Ay ~x=12=20
2. Gradient = 0.5 and passes through (4, 8) 3 Aytbexy Y
3. Passes through (-5, 3) and (2, -6) 3. Passes through (-5, 3) and (2, -6) 1.3,1“ <0
meekst, 3 Y=3e-3 G-
4. Passes through (-2, 3) and (2, 7) 2-kf)2 Y= e S
5. Passes through (-1, -4) and (3, 8) 4. Passes through (-2, 3) and (2, 7)
- yT 1(x-2)
: yx+s
5. Passes through (-1, -4) and (3, 8) )
4 da -% =33
ms @ = 4 =3 JJ‘J‘_I
quﬁ'hg the gnr‘liehf —ih’mrrepf given the P(‘Ilmfinh u "'"
The equation has to be in the form y = mx + ¢ before you can state the
gradient or y-intercept. You need to rearrange. Questions: Find the gradient and y - intercept for the following

(a)2x + 4y + 6 =0
Example:
State the gradient and y - intercept of the equation -3y + 4x = 3

-3y +lUx=3
A

-334' Ux3=0



S3 (3.1) Straight Line (ii).notebook May 30, 2016

(c)3y + 3 =X
(b) 3y -3x+1=0

(e) 2y + 8 = 0.5x

(d)x+2y-1=0

Rearranging Equations

Queitwg)lls':wditshe gradient anday); inercept for the fgjllgv&lggx s

gt tx -2 D yedax -l R TR
(f) y +1=3x (a)2x+4y+6=0 ()3y+3=x (e) 2y +8=0.5x
Ae "t o Mrg cw-l Meg ce-y
5 T €r§ 2 =
(b)3y-3x+1=0 (d)x2+2y.1:o (y+1=3x
Ja—)r_‘\ 5 %¢ll 15x
. . j—;‘!x.é ﬂzlﬁ},ﬁ
e3¢l fus ' .
—3‘)(\‘3 c;"‘ Mz-z C&Ll M=-B

C=
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Find the equation of the straight line shown in the diagram. 3

Find the equation of the straight line. 3

2 AUSDE T\ Nou-Cal\Cu\aTor
003 2 «<a\ or
A bath contains 150 litres of water. culat y

‘Water is drained from the bath at a steady rate of 30 litres per minute. B

The graph of the volume, V litres, of water in the bath against the time,
t minutes, is shown below.

Vi

§ t Al

Write down an equation connecting ¥ and t. 3

'ind the equation of the straight line AB,

2. ook ‘\ V\Dv“cc.\tu.\&\ﬂl'
) y

Find the equation of the line joining the points (-2, 5) and (3, 15).

Give the equation in its simplest form. 3

Find the equation of the straight line AB.
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A straight line is represented by the equation 2y + x = 6. ~
- (@) Find the gradient of this line. 2 A straight line has equation y = 4x + 5. .
4 e o o
(¢) This line crosses the y-axis at (0, c). State the gradient of this line. :
Find the value of ¢. L -

(a) Astraight line has equation 4x+43y=12.

Find the gradient of this line. 2
Today we will be cotninuing to practise questions
on the straight line.
(b) Find the coordinates of the point where this line crosses the x-axis. 2
P T
v .

McGregor’s Burgers sells fast food.
8 The graph shows the relationship between the amount of fat, F grams, and

the number of calories, C, in some of their sandwiches.
7 c
6

(a) Find the equation of the line of best fit in terms of Fand C. 3

5
4

Calories
3 (b) A Super Deluxe sandwich contains 40grams of fat.

Use your answer to part () to estimate the number of calories this
2 sandwich contains.
Show your working. 1
1
0 x
i
1 2 3 4\" 5 6 o Fat (grams) F

Aline of best fit has been drawn,
(a) Find the equation of the straight line shown in the diagram. 3 Point A represents a sandwich which has 5 grams of fat and 200 calories.
Point B represents  sandwich which has 25 grams of fat and 500 calories.

() Find the coordinates of the point where the line y = 2x meets this line. 2
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Teams in a quiz answer questions on film and sport.
This scattergraph shows the scores of some of the teams.

. A straight line is represented by the equation y =mx +¢. .
Sketch a possible straight line graph to illustrate this equation when - = .
m>0andc<0. . 2 23

Sport
Score

Film Score

Aline of best fit is drawn as shown.

(a) Find the equation of this straight line. 3

(b) Use this equation to estimate the sports score for a team with a film

score of 8.
Total marks
2. 200™ BA wenm-ealeulator
-~
¥
o
]
A straight line is represented by the equationfx+y =5:
Find the gradient of this line. . - 2
. s [¢ x
0,-3)

(-2, -11)

{-‘ind the equation of the straight line passing through the points (0,-3) and
-2, -11).

T y . - xo\o R4 WS 200\ Ry

A\10 — ;1 ’
8 - CEnsN! p
6 - S
) - 19 \
¢ . ) N A
2 .
k] Calculate the gradient of the straight line passing through the points (-3, 5) and
of 2 4 6 1 . (7,4).

Find the equation of the straight line AB shown in the diagram.
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